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(1 THIEHS, 7£X =040 FHZ

M) f(x)=|xsin|x  ®) f(x)=|x|sin\/m

© f(x)=cos|x] (D f(x)=cos \/M

(2) A 1,0,05 €0,1,0), H5z=x"+y MIKFHTEN
Ao z=05x+y-z=1 B. z=052x+2y-z=2

C. y=x5x+y-z=1 D. y=x52x+2y-z=2

= 2n+3
3 —)" =
( )nzz(;‘( ) 2n+1)!

A. sinl+cosl B. 2sinl+cosl C. 3sinl+cosl D. 3sinl1+2cosl

bl WM = J‘z (1+X) <. N= J' 1+X X, K=[2@+cosxydx, 1
: =

@A) M>N>K B M>K>N OK>M>N 0 K>N>M

110
(5) FHIERES, S5HFE0 1 1 MR
0 01
11 -1 1 0 -1
A0 1 B.O 1
00 00
1 o 1 -1
C.|0 D.|O 1
0 0

(6) WA, BRynBidERE, dr(X) AR X ik, (X Y) FoRpsRHErE, N
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A.r(A AB)=r(A B.r(A BA)=r(A
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c.r(A B)=max{r(A),r(B)} b.r(A B)=r(A" B")
(7) ¥ F () NESBOBEEE RS, f0+x)=f1-x), _fozf(x)dx:Oﬁ, il

X, 0=__ .
A.0.2 B.0.3 C.04 D. 0.6
(8) BEMEX: N(wo?), o CRlL BERA Xy, XLy Xy ARSI 1 47K

B, AHyip=p,H =y, N
A. FREMEKF a=0.0501E4 H,, Ma=001HIELH,.
B. HEREMKT a=0.05m#%%2H,, Ma=0.01rHELH,.
C. #BEMAKT o = 0.05 M4 Hy o Mo =0.0L 5% H, .

D. #&FENKT a=0.0514%3%2 H,y, W a=0.01mHiE%H,.
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_ sinkx

(9 lim Smilonvyis =e, Mk =
x-0\ 1+ tan X

(10) y=f(x) MERIT 00, 15 y=a"fii1s (1), K[ xf (k=
(11) F(x,y,z):xy:s—yz;7+lel<,2|€rotblé(1,l,0):

(12) Bk s x>+ y* + 22 =15x+ y+z = O M= T AR, 3J€N<yd8=

(13) ZFr R A AWAAFRAEME, o a2 A &M T K RAE F &

A= __

A (o, + ) = (o, + ), U]
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(14) AB M7, ACHES, BC # 4, P(A):P(B):%, P(AC|ABUC) =
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JUP(C) =

NG

(15) . E%K%%/%\J.e“ arctan v/e* —1dx

(16) . —#RZEK 2m, BR=B, 2. =ME. L%, R=BaihEKE
PR H ARSI, R iZ R ME

an . x=,\/1—3y2—322 B IE T » zlijfxdydz+(y3+z)dxdz+z3dxdy
z

(18) Wit y+y=f(x)
(D2 F(X) =X, R TR IE AR,

QD 2 (X)W EO, U7 AT AR S R, EZ It e SR 2

(19 #H{x.}, x>0, xe™ =e* =1.ik: {x FUsk, FHRlimx, .
(20) B F (X, %, %)= (X — X+ XY + (X, + X, F + (X +ax) Hia £2H,
(D 3R (X, %, X;) =0 HIfiE

D 3R f (%, X, Xg) FLETE

1 2 a 1 a 2
QD) BHawH, HHpfEA=|1 3 0 |y HitbyEsB=|0 1 1
2 7 -a -1 11

() K a
(D Righ 2 AP = B [ m s p
(22> XY BN RMEMSL, PIX =8 =y,, P{X=-0=vy,, Y RN A HiEk 5 7.
Z= X\
(1) kecov(X,Z).
(2) K Z 1A

X

(23) Xy, X, L, X kA &2k X oA, f(x)=2ie" (o KH, —0<X<+0) .
o

(1) Ko R It
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(2) RE(G), D(o).
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